
DOMAĆI 

 

1080. a) 𝟏 + 𝟐 + 𝟑 + ⋯ + 𝒏 =
𝒏(𝒏+𝟏)

𝟐
 

(1) 𝒂𝒏 = 𝒏   𝒂𝟏 = 𝑺𝟏 = 𝑭𝟏 = 𝟏 

(2) 𝑺𝒏 = 𝑭𝒏 → 𝑺𝒏+𝟏 = 𝑭(𝒏+𝟏)                     𝒂𝒏+𝟏=𝒏+𝟏    

𝟏 + 𝟐 + 𝟑 … + 𝒏 + 𝒏 + 𝟏=
(𝒏+𝟐)(𝒏+𝟏)

𝟐
 

𝒏(𝒏 + 𝟏)

𝟐
+ 𝒏 + 𝟏 =

(𝒏 + 𝟐)(𝒏 + 𝟏)

𝟐
 

𝒏(𝒏 + 𝟏) + 𝟐(𝒏 + 𝟏)

𝟐
=

(𝒏 + 𝟐)(𝒏 + 𝟏)

𝟐
 

(𝒏 + 𝟏)(𝒏 + 𝟐)

𝟐
=

(𝒏 + 𝟐)(𝒏 + 𝟏)

𝟐
 

 

1081.b) 
𝟑

𝟏∙𝟐
+

𝟕

𝟐∙𝟑
+ ⋯ +

𝒏𝟐+𝒏+𝟏

𝒏(𝒏+𝟏)
=

𝒏(𝒏+𝟐)

𝒏+𝟏
 

𝑺𝒏 = 𝑭(𝒏) 

𝒂𝒏 =
𝒏𝟐 + 𝒏 + 𝟏

𝒏(𝒏 + 𝟏)
 

(1) n=1 

𝑺𝒏 = 𝑭(𝒏) → 𝑺𝒏+𝟏 = 𝑭(𝒏+𝟏) 

𝑭𝒏+𝟏 =
(𝒏 + 𝟏)(𝒏 + 𝟐 + 𝟏)

𝒏 + 𝟏 + 𝟏
=

(𝒏 + 𝟏)(𝒏 + 𝟑)

𝒏 + 𝟐
 

𝑺𝒏+𝟏 =
(𝒏 + 𝟏)𝟐 + 𝒏 + 𝟏 + 𝟏

(𝒏 + 𝟏)(𝒏 + 𝟏 + 𝟏)
=

𝒏𝟐 + 𝟐𝒏 + 𝟏 + 𝒏 + 𝟐

(𝒏 + 𝟏)(𝒏 + 𝟐)

=
𝒏𝟐 + 𝟑𝒏 + 𝟑

(𝒏 + 𝟏)(𝒏 + 𝟐)
 

𝟑

𝟏 ∙ 𝟐
+

𝟕

𝟐 ∙ 𝟑
+ ⋯ +

𝒏𝟐 + 𝒏 + 𝟏

𝒏(𝒏 + 𝟏)
+

𝒏𝟐 + 𝟑𝒏 + 𝟑

(𝒏 + 𝟏)(𝒏 + 𝟐)
=

(𝒏 + 𝟏)(𝒏 + 𝟑)

𝒏 +
 

Crvenom bojom je označena indukcijska hipoteza  

 



𝒏(𝒏 + 𝟐)

𝒏 + 𝟏
+

𝒏𝟐 + 𝟑𝒏 + 𝟑

(𝒏 + 𝟏)(𝒏 + 𝟐)
=

(𝒏 + 𝟏)(𝒏 + 𝟑)

𝒏 + 𝟐
 

𝒏(𝒏 + 𝟐)𝟐 + 𝒏𝟐 + 𝟑𝒏 + 𝟑

(𝒏 + 𝟏)(𝒏 + 𝟐)
=

(𝒏 + 𝟏)(𝒏 + 𝟑)

𝒏 + 𝟐
 

𝒏𝟑 + 𝟒𝒏𝟐 + 𝟒𝒏 + 𝒏𝟐 + 𝟑𝒏 + 𝟑

(𝒏 + 𝟏)(𝒏 + 𝟐)
=

(𝒏 + 𝟏)(𝒏 + 𝟑)

𝒏 + 𝟐
 

Pomnožimo izraz sa (n+1)(n+2) ,ne trebaju uslovi jer n pripada N  

𝒏𝟑 + 𝟒𝒏𝟐 + 𝟒𝒏 + 𝒏𝟐 + 𝟑𝒏 + 𝟑 = (𝒏 + 𝟏)𝟐(𝒏 + 𝟑) 

𝒏𝟑 + 𝟓𝒏𝟐 + 𝟕𝒏 + 𝟑 = (𝒏𝟐 + 𝟐𝒏 + 𝟏)(𝒏 + 𝟑) 

𝒏𝟑 + 𝟓𝒏𝟐 + 𝟕𝒏 + 𝟑 = 𝒏𝟑 + 𝟐𝒏𝟐 + 𝒏 + 𝟑𝒏𝟐 + 𝟔𝒏 + 𝟑 

𝒏𝟑 + 𝟓𝒏𝟐 + 𝟕𝒏 + 𝟑 = 𝒏𝟑 + 𝟓𝒏𝟐 + 𝟕𝒏 + 𝟑 

𝑺𝒏+𝟏 = 𝑭(𝒏+𝟏) 


